OR Weight
Study with 95% CI (%)
Bangladesh
Mahmood_2018 1 210[ 1.35, 2.85] 3.52
Mahmood_2018 . 3 190[ 1.05, 2.75] 3.27
Sarker 2017 X ) 0.87[ 0.00, 1.74] 3.22
Sarker_2017 . & 1.22[ 0.22, 2.22] 292
Heterogeneity: T° = 0.16, I = 45.37%, H> = 1.83 ‘ 1.56[ 0.98, 2.14]
Testof 6,=6,: Q(3)=5.44,p=0.14
Cameroon
Oraro_2018 . 3 1.55[ 0.67, 2.44] 3.19
Oraro_2018 O 1.77[ 1.11, 2.43] 3.75
Heterogeneity: T° = 0.00, I> = 0.00%, H* = 1.00 ‘ 1.69[ 1.16, 2.22]
Testof 6,=6,: Q(1)=0.15,p=0.70
Ghana
Akazili_2014 . 3 3.17[ 2.35, 3.99] 3.35
Akazili_2014 O 1.85[ 1.23, 2.47] 3.85
Fenny 2017 —>  8.72[ 4.17, 13.27] 0.33
Fenny 2017 [ | 0.14[-0.19, 0.47] 4.49
Dixon_2014 ——> 895[ 3.89, 14.01] 0.27
Dixon_2014 ——=—> 582[ 2.00, 9.64] 0.46
Dixon_2014 8.43[-8.29, 25.15] 0.03
Dixon_2014 —=——  455[ 141, 7.69] 0.65
Kumi-Kyereme_2013 3 1.26[ 0.48, 2.04] 3.44
Duku_2018 = = 1.48[ 0.06, 2.90] 2.08
Amu_2016 . 3 1.72[ 0.83, 261] 3.17
Dixon_2011 H 217 1.68, 2.66] 4.16
Dixon_2011 O 1.48[ 1.09, 1.87] 4.38
Dixon_2011 [ | 1.75[ 1.42, 2.08] 4.50
Dixon_2011 O 1.35[ 1.11, 1.59] 4.63
Seddoh_2018 . 3.47[-1.09, 8.03] 0.33
Seddoh_2018 414[-3.77, 12.05] 0.12
Duku_2018 [ ] 1.49[ 0.89, 2.09] 3.89
Duku_2018 I 161[ 0.92, 2.30] 3.67
Van der Wielen_2018 - 3.26[ 2.09, 442] 256
Manortey 2014 - 2.12[ 1.02, 3.22] 2.69
Van der Wielen_2018 — - 3.10[ 0.84, 5.36] 1.11
Van der Wielen_2018 3.33[-8.07, 14.73] 0.06
Kuuire_2017 —a— 2.09[-0.30, 4.48] 1.02
Kuuire_2017 — = 1.08[-0.37, 2.53] 2.03
Parmar_2014 [ | 1.05[ 0.46, 1.64] 3.93
Heterogeneity: T° = 0.57, I = 82.88%, H’> = 5.84 ’ 1.88[ 1.48, 2.28]
Test of 6, = 6;: Q(25) = 134.76, p = 0.00
India
Panda_2014 ] 111 0.95, 1.27] 4.73
Panda_2014 O 1.01[ 0.88, 1.14] 4.76
Panda_2014 1.01[ 0.88, 1.14] 4.76
Heterogeneity: T° = 0.00, I* = 0.01%, H* = 1.00 T 1.03[ 0.95, 1.11]
Testof 6,=6;: Q(2)=1.11,p=0.58
Kenya
Oraro2_2018 . B 1.80[ 0.77, 2.83] 2.85
Oraro2_2018 e 3.23[ 0.43, 6.03] 0.79
Heterogeneity: T° = 0.00, I> = 0.00%, H* = 1.00 ‘ 1.97[ 1.00, 2.94]
Testof 6,=6,: Q(1) =0.88, p=0.35
Nepal
Adhikari_2013 —=—> 595[ 297, 893] 0.71
Adhikari_2013 —=—>  6.18[ 1.66, 10.71] 0.34
Heterogeneity: T° = 0.00, 1> = 0.00%, H* = 1.00 ‘ 6.02[ 3.53, 8.51]
Testof 6,=6,: Q(1)=0.01,p=0.93
Overall ' 1.72[ 1.45, 1.99]

Heterogeneity: T° = 0.40, I> = 88.63%, H’ = 8.80
Test of 8 = 6: Q(38) = 195.49, p = 0.00

Test of group differences: Q(5) = 42.81, p = 0.00

Random-effects REML model
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